Article

# On a New Integral Inequality: Generalizations and Applications 

Huaping Huang ${ }^{1,+(\mathbb{D}}$ and Wei-Shih Du ${ }^{2, *,+(\mathbb{D})}$<br>1 School of Mathematics and Statistics, Chongqing Three Gorges University, Wanzhou, Chongqing 404020, China<br>2 Department of Mathematics, National Kaohsiung Normal University, Kaohsiung 82444, Taiwan<br>* Correspondence: wsdu@mail.nknu.edu.tw<br>$\dagger$ These authors contributed equally to this work.

Citation: Huang, H.; Du, W.-S. On a New Integral Inequality: Generalizations and Applications. Axioms 2022, 11, 458. https:/ / doi.org/10.3390/axioms11090458

Academic Editor: Simeon Reich

Received: 23 August 2022
Accepted: 4 September 2022
Published: 6 September 2022
Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.


Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ $4.0 /$ ).


#### Abstract

In this paper, we present some generalizations and improvements of a new integral inequality from the 29th IMC in 2022. Some applications of our new results are also provided.


Keywords: IMC 2022; quasi-hyperbolic sine function; exponential function; arithmetic mean-geometric mean (AM-GM) inequality; Cauchy-Schwarz inequality; Lagrange mean value theorem

MSC: 26B05; 26B20; 26D10; 26E60; 47G10

## 1. Introduction and Motivation

As we all know, in the history of the research process of inequality theory, many important generalization studies often come from some simple inequalities that have widespread applications. Over the past more than five decades, rapid developments in inequality theory and its applications have contributed greatly to many branches of mathematics, economics, finance, physics, dynamic systems theory, game theory, and so on; for more details, one can refer to [1-4] and the references therein.

The following new integral inequality (here we regard it as a theorem) arose from the 29th International Mathematics Competition for University Students (for short, IMC 2022), which was held in Blagoevgrad, Bulgaria on 1-7 August 2022. For more information (including proofs), please visit the following official website of IMC 2022: https:/ /www. imc-math.org.uk (accessed on 1 August 2022).

Theorem 1. Let $f:[0,1] \rightarrow(0,+\infty)$ be an integrable function such that $f(x) \cdot f(1-x)=1$ for all $x \in[0,1]$. Then $\int_{0}^{1} f(x) \mathrm{d} x \geq 1$.

Motivated by the above integral inequality, the following questions arise naturally. Question 1. Can we establish new real generalizations of Theorem 1?
Question 2. Does Theorem 1 still hold if we replace the codomain $(0,+\infty)$ of $f$ with $(-\infty,+\infty)$ ?

In this work, our questions will be answered affirmatively. In Section 2, we successfully establish a new real generalization (see Theorem 2 below) of Theorem 1, which is a positive answer to Question 1. In Section 3, we first construct a new simple counterexample to show that Question 2 is not always true. Furthermore, we establish an equivalent theorem (see Theorem 3 below) of Theorem 2. Finally, some applications of our new results are given in Section 4. The new results we present in this paper are novel and developmental.

## 2. New Results for Question 1

The following result is very crucial for answering Question 1.

Lemma 1. Let $f(x)$ be an integrable function on $[a, b]$. Then

$$
\begin{aligned}
\int_{a}^{b} f(x) \mathrm{d} x & =\int_{a}^{b} f(a+b-x) \mathrm{d} x \\
& =\frac{1}{2} \int_{a}^{b}[f(x)+f(a+b-x)] \mathrm{d} x \\
& =\int_{a}^{\frac{a+b}{2}}[f(x)+f(a+b-x)] \mathrm{d} x \\
& =\int_{\frac{a+b}{2}}^{b}[f(x)+f(a+b-x)] \mathrm{d} x .
\end{aligned}
$$

Proof. By using integration by substitution (see, e.g., [5]), we have

$$
\begin{align*}
\int_{a}^{b} f(x) \mathrm{d} x & \xlongequal{(\text { let } t=a+b-x)} \int_{b}^{a} f(a+b-t)(-\mathrm{d} t) \\
& =\int_{a}^{b} f(a+b-t) \mathrm{d} t=\int_{a}^{b} f(a+b-x) \mathrm{d} x \tag{1}
\end{align*}
$$

Hence, we obtain

$$
\begin{align*}
\int_{a}^{b} f(x) \mathrm{d} x & =\frac{1}{2}\left[\int_{a}^{b} f(x) \mathrm{d} x+\int_{a}^{b} f(a+b-x) \mathrm{d} x\right] \\
& =\frac{1}{2} \int_{a}^{b}[f(x)+f(a+b-x)] \mathrm{d} x \tag{2}
\end{align*}
$$

Note that

$$
\begin{align*}
\int_{\frac{a+b}{2}}^{b}[f(x)+f(a+b-x)] \mathrm{d} x & \xlongequal{(\text { let } t=a+b-x)} \int_{\frac{a+b}{2}}^{a}[f(a+b-t)+f(t)](-\mathrm{d} t) \\
& =\int_{a}^{\frac{a+b}{2}}[f(a+b-t)+f(t)] \mathrm{d} t  \tag{3}\\
& =\int_{a}^{\frac{a+b}{2}}[f(x)+f(a+b-x)] \mathrm{d} x
\end{align*}
$$

so it is easy to see that

$$
\begin{aligned}
& \int_{a}^{b}[f(x)+f(a+b-x)] \mathrm{d} x \\
= & \int_{a}^{\frac{a+b}{2}}[f(x)+f(a+b-x)] \mathrm{d} x+\int_{\frac{a+b}{2}}^{b}[f(x)+f(a+b-x)] \mathrm{d} x \\
= & 2 \int_{a}^{\frac{a+b}{2}}[f(x)+f(a+b-x)] \mathrm{d} x .
\end{aligned}
$$

Combining (1) and (2) together with (3), we prove the desired conclusion.
With the help of Lemma 1, we can establish the following generalization of Theorem 1.
Theorem 2. Let $f:[a, b] \rightarrow(0,+\infty)$ be an integrable function such that

$$
\begin{equation*}
f(x) \cdot f(a+b-x)=c \tag{4}
\end{equation*}
$$

for all $x \in[a, b]$, where $c>0$ is a constant. Then

$$
\begin{equation*}
\int_{a}^{b} f(x) \mathrm{d} x \geq(b-a) \sqrt{c} \tag{5}
\end{equation*}
$$

The case of equality holds in (5) if and only if $f(x)=f(a+b-x)=\sqrt{c}$ for all $x \in[a, b]$.
Proof. We use two methods to show (5).
Method 1. By (4) and using the arithmetic-mean-geometric-mean (AM-GM) inequality, we have

$$
\begin{equation*}
f(x)+f(a+b-x) \geq 2 \sqrt{f(x) f(a+b-x)}=2 \sqrt{c} \text { for any } x \in[a, b] . \tag{6}
\end{equation*}
$$

By (6) and applying Lemma 1, we arrive at

$$
\int_{a}^{b} f(x) \mathrm{d} x=\int_{a}^{\frac{a+b}{2}}[f(x)+f(a+b-x)] \mathrm{d} x \geq \int_{a}^{\frac{a+b}{2}} 2 \sqrt{c} \mathrm{~d} x=(b-a) \sqrt{c} .
$$

Obviously, the equality holds in (5) if and only if the equality holds in (6) and if and only if $f(x)=f(a+b-x)=\sqrt{c}$ for all $x \in[a, b]$.
Method 2. By applying Lemma 1 and using (4), it follows that

$$
\int_{a}^{b} f(x) \mathrm{d} x=\int_{a}^{b} f(a+b-x) \mathrm{d} x=\int_{a}^{b} \frac{c}{f(x)} \mathrm{d} x
$$

Applying Cauchy-Schwarz inequality, we obtain

$$
\left(\int_{a}^{b} f(x) \mathrm{d} x\right)^{2}=\int_{a}^{b} f(x) \mathrm{d} x \cdot \int_{a}^{b} \frac{c}{f(x)} \mathrm{d} x \geq\left(\int_{a}^{b} \sqrt{c} \mathrm{~d} x\right)^{2}=(b-a)^{2} c
$$

This proves the inequality (5). Clearly, the equality holds in (5) if and only if $f(x)=$ $f(a+b-x)=\sqrt{c}$ for all $x \in[a, b]$.

Remark 1. By taking $a=0$ and $b=c=1$ in Theorem 2, we can prove Theorem 1.
Remark 2. There are many functions satisfying condition (4), as in Theorem 2, such as
(i) $f(x)=\sqrt{c}, x \in[a, b]$, where $c>0$ is a constant;
(ii) $f(x)=\alpha^{x}, x \in[a, b]$, where $\alpha>0$ with $\alpha \neq 1$;
(iii) $f(x)=\frac{x}{a+b-x}, x \in[a, b]$;
(iv) $f(x)=\frac{a+b-x}{x}, x \in[a, b]$;
(v) $f(x)= \begin{cases}(a+b-x)^{2}+1, & x \in\left[a, \frac{a+b}{2}\right), \\ 1, & x=\frac{a+b}{2}, \\ \frac{1}{x^{2}+1}, & x \in\left(\frac{a+b}{2}, b\right] .\end{cases}$

## 3. New Results for Question 2

In this section, we first provide a simple counterexample to show that Question 2 is not always true if we replace the codomain $(0,+\infty)$ of $f$ with $(-\infty,+\infty)$.

Example 1. Let $f:[0,1] \rightarrow(-\infty,+\infty)$ be defined by

$$
f(x)= \begin{cases}1, & x \in\left[0, \frac{1}{4}\right) \cup\left(\frac{3}{4}, 1\right] \\ -1, & x \in\left[\frac{1}{4}, \frac{3}{4}\right]\end{cases}
$$

Then, $f$ is an integrable function on $[0,1]$ but not continuous on $[0,1]$. Clearly, $f(x)$ satisfies $f(x) \cdot f(1-x)=1$ for all $x \in[0,1]$. However, it is easy to see that

$$
\int_{0}^{1} f(x) \mathrm{d} x=0<1
$$

By applying Theorem 2, we obtain the following result.
Theorem 3. Let $g:[a, b] \rightarrow(-\infty,+\infty)$ be an integrable function such that

$$
\begin{equation*}
g(x) \cdot g(a+b-x)=\lambda \tag{7}
\end{equation*}
$$

for all $x \in[a, b]$, where $\lambda$ is a nonzero constant. Then

$$
\begin{equation*}
\int_{a}^{b}|g(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|} . \tag{8}
\end{equation*}
$$

The case of equality holds in (8) if and only if $|g(x)|=|g(a+b-x)|=\sqrt{|\lambda|}$ for all $x \in[a, b]$.
Proof. Due to (7), we know that $g(x) \neq 0$ for all $x \in[a, b]$. So we can define $f:[a, b] \rightarrow$ $(0,+\infty)$ by

$$
f(x)=|g(x)| \text { for } x \in[a, b]
$$

Since $g$ is integrable, $f$ is integrable. From (7) again, we obtain

$$
f(x) \cdot f(a+b-x)=|g(x) \cdot g(a+b-x)|=|\lambda| \text { for all } x \in[a, b] .
$$

Let $c=|\lambda|$. Then $c>0$. Hence, all conditions in Theorem 2 are satisfied. By Theorem 2, we obtain

$$
\int_{a}^{b}|g(x)| \mathrm{d} x=\int_{a}^{b} f(x) \mathrm{d} x \geq(b-a) \sqrt{c}=(b-a) \sqrt{|\lambda|},
$$

and the equality holds in (8) if and only if $|g(x)|=|g(a+b-x)|=\sqrt{|\lambda|}$. The proof is completed.

Remark 3. We applied Theorem 2 to show Theorem 3. It is obvious that Theorem 2 is a special case of Theorem 3. Therefore, we can conclude that Theorems 2 and 3 are indeed equivalent.

Taking advantage of Theorem 3, we easily obtain the following results.
Corollary 1. Let $g:[0,1] \rightarrow(-\infty,+\infty)$ be an integrable function such that

$$
g(x) \cdot g(1-x)=\lambda
$$

for all $x \in[0,1]$, where $\lambda$ is a nonzero constant. Then

$$
\begin{equation*}
\int_{0}^{1}|g(x)| \mathrm{d} x \geq \sqrt{|\lambda|} . \tag{9}
\end{equation*}
$$

The case of equality holds in (9) if and only if $|g(x)|=|g(1-x)|=\sqrt{|\lambda|}$ for all $x \in[0,1]$.
Proof. Taking $a=0$ and $b=1$ in Theorem 3, then the desired result is obtained.
Corollary 2. Let $m>0$. Suppose that $g:[-m, m] \rightarrow(-\infty,+\infty)$ is an integrable function such that

$$
g(x) \cdot g(-x)=1
$$

for all $x \in[-m, m]$. Then

$$
\begin{equation*}
\int_{-m}^{m}|g(x)| \mathrm{d} x \geq 2 m \tag{10}
\end{equation*}
$$

The case of equality holds in (10) if and only if $|g(x)|=|g(-x)|=1$ for all $x \in[-m, m]$.
Proof. Take $a=-m, b=m$, and $\lambda=1$ in Theorem 3, then the desired conclusion is proved.

As a consequence of Theorem 3, we obtain the following theorem.
Theorem 4. Let $h:(-\infty,+\infty) \rightarrow(-\infty,+\infty)$ be a function satisfying $\int_{-\infty}^{+\infty} h(x) \mathrm{d} x<\infty$. Suppose that there exist $a, b \in(-\infty,+\infty)$ with $a<b$ such that

$$
\begin{equation*}
h(x) \cdot h(a+b-x)=\lambda \tag{11}
\end{equation*}
$$

for all $x \in[a, b]$, where $\lambda$ is a nonzero constant. Then, for any $u, v \in(-\infty,+\infty)$ with $u \leq a$ and $b \leq v$, we have

$$
\begin{aligned}
& \int_{u}^{v}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|}, \\
& \int_{u}^{+\infty}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|}, \\
& \int_{-\infty}^{v}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|}
\end{aligned}
$$

and

$$
\int_{-\infty}^{+\infty}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|} .
$$

Proof. Define $g:[a, b] \rightarrow(-\infty,+\infty)$ by

$$
g(x)=h(x) \text { for } x \in[a, b] .
$$

Since $\int_{-\infty}^{+\infty} h(x) \mathrm{d} x<\infty, \int_{a}^{b} h(x) \mathrm{d} x<\infty$. Hence, $h$ is integrable on $[a, b]$. It follows that $g$, $|g|$, and $|h|$ are integrable on $[a, b]$ and

$$
\int_{a}^{b}|g(x)| \mathrm{d} x=\int_{a}^{b}|h(x)| \mathrm{d} x .
$$

By (11), we obtain

$$
g(x) \cdot g(a+b-x)=h(x) \cdot h(a+b-x)=\lambda \quad \text { for all } x \in[a, b] .
$$

Hence all conditions in Theorem 3 are satisfied. By utilizing Theorem 3, we obtain

$$
\begin{array}{r}
\int_{u}^{v}|h(x)| \mathrm{d} x \geq \int_{a}^{b}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|}, \\
\int_{u}^{+\infty}|h(x)| \mathrm{d} x \geq \int_{a}^{b}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|}, \\
\int_{-\infty}^{v}|h(x)| \mathrm{d} x \geq \int_{a}^{b}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|}
\end{array}
$$

and

$$
\int_{-\infty}^{+\infty}|h(x)| \mathrm{d} x \geq \int_{a}^{b}|h(x)| \mathrm{d} x \geq(b-a) \sqrt{|\lambda|} .
$$

The proof is completed.

## 4. Some Applications

In this section, we first establish the following new useful inequalities, which improve the known inequalities for exponential functions.

Theorem 5. Let $a>0$. Then, the following hold.
(i) If $0<a<1$, then $a^{x}<1+x a^{\frac{x}{2}} \ln a$ for all $x>0$.
(ii) If $a=1$, then $a^{x}=1+x a^{\frac{x}{2}} \ln a=1$ for all $x>0$.
(iii) If $a>1$, then $a^{x}>1+x a^{\frac{x}{2}} \ln a$ for all $x>0$.

In particular, we have

$$
\mathrm{e}^{x}>x \mathrm{e}^{\frac{x}{2}}+1>x+1 \text { for all } x>0
$$

Proof. Given $x>0$. Let $f(y)=a^{y}$ for $y \in[0, x]$. Then $f$ is integrable on $[0, x]$, and

$$
f(y) \cdot f(x-y)=a^{x} \quad \text { for all } y \in[0, x] .
$$

Hence, by applying Theorem 2, we have

$$
\begin{equation*}
\frac{1}{\ln a}\left(a^{x}-1\right)=\int_{0}^{x} a^{y} \mathrm{~d} y \geq x a^{\frac{x}{2}} \tag{12}
\end{equation*}
$$

(i) If $0<a<1$, then $\ln a<0$. Note that $f(y)=f(x-y)=a^{\frac{x}{2}}$ holds for $y=\frac{x}{2}$. So the equality does not hold in (12). From (12), we obtain

$$
a^{x}<1+x a^{\frac{x}{2}} \ln a \text { for all } x>0
$$

(ii) Clearly, if $a=1$, then $a^{x}=1=1+x a^{\frac{x}{2}} \ln a$ for all $x>0$.
(iii) If $a>1$, then $\ln a>0$. Since $f(y)=f(x-y)=a^{\frac{x}{2}}$ holds for $y=\frac{x}{2}$, the equality does not hold in (12). Hence, using (12) again, we obtain

$$
a^{x}>1+x a^{\frac{x}{2}} \ln a \quad \text { for all } x>0
$$

In particular, by taking $a:=\mathrm{e}$, we have

$$
\mathrm{e}^{x}>x \mathrm{e}^{\frac{x}{2}}+1>x+1 \text { for all } x>0
$$

The proof is completed.
Next, we provide a new simple proof of the following important fundamental inequality for hyperbolic sine functions by applying Theorem 2, Theorem 3, or their corollaries.

Theorem 6. $\sinh x>x$ for all $x>0$.
Proof. Given $x>0$. Let $f(y)=\mathrm{e}^{y}$ for $y \in[-x, x]$. Then $f$ is integrable on $[-x, x]$ and

$$
f(y) \cdot f(-y)=\mathrm{e}^{0}=1 \quad \text { for all } y \in[-x, x] .
$$

By applying Theorem 2 (or Theorem 3 or Corollary 2), we obtain

$$
\mathrm{e}^{x}-\mathrm{e}^{-x}=\int_{-x}^{x} \mathrm{e}^{y} \mathrm{~d} y \geq 2 x
$$

Since $\mathrm{e}^{x} \neq \mathrm{e}^{-x}$ for $x \neq 0$, we obtain

$$
\sinh x=\frac{\mathrm{e}^{x}-\mathrm{e}^{-x}}{2}>x
$$

The proof is completed.
In this paper, we introduce the concept of quasi-hyperbolic sine function.
Definition 1. A function $q$-sinh : $(0,+\infty) \times(-\infty,+\infty) \rightarrow(-\infty,+\infty)$ is said to be a quasihyperbolic sine function if

$$
q-\sinh (a, x)=\frac{a^{x}-a^{-x}}{2} \quad \text { for } a>0 \text { and } x \in(-\infty,+\infty)
$$

Remark 4. In [6], Nantomah, Okpoti, and Nasiru defined generalized hyperbolic sine function using

$$
\sinh _{a} x=\frac{a^{x}-a^{-x}}{2} \quad \text { for } a>1 \text { and } x \in(-\infty,+\infty) .
$$

It is obvious that a hyperbolic sine function is a generalized hyperbolic sine function, and a generalized hyperbolic sine function is a quasi-hyperbolic sine function, but the converse is not true.

We now give the following new inequalities for quasi-hyperbolic sine functions.
Theorem 7. Let $a>0$. Then, the following hold.
(i) If $0<a<1$, then $q-\sinh (a, x)<x \ln a$ for all $x>0$.
(ii) If $a=1$, then $q-\sinh (a, x)=0$ for all $x>0$.
(iii) If $a>1$, then $q-\sinh (a, x)=\sinh _{a} x>x \ln a$ for all $x>0$.

Proof. Given $x>0$. Let $f(y)=a^{y}$ for $y \in[-x, x]$. Thus, $f$ is integrable on $[-x, x]$ and

$$
f(y) \cdot f(-y)=a^{0}=1 \quad \text { for all } y \in[-x, x] .
$$

By applying Theorem 2 (or Theorem 3 or Corollary 2), we obtain

$$
\begin{equation*}
\frac{1}{\ln a}\left(a^{x}-a^{-x}\right)=\int_{-x}^{x} a^{y} \mathrm{~d} y \geq 2 x . \tag{13}
\end{equation*}
$$

(i) If $0<a<1$, then $\ln a<0$. Since $a^{x} \neq a^{-x}$ for $x \neq 0$, the equality does not hold in (13). Hence (13) yields

$$
q-\sinh (a, x)=\frac{a^{x}-a^{-x}}{2}<x \ln a .
$$

(ii) Clearly, $q-\sinh (1, x)=\frac{1^{x}-1^{-x}}{2}=0$ for all $x>0$.
(iii) If $a>1$, then $\ln a>0$. Since $a^{x} \neq a^{-x}$ for $x \neq 0$, the equality does not hold in (13). So, from (13) again, we obtain

$$
q-\sinh (a, x)=\sinh _{a} x=\frac{a^{x}-a^{-x}}{2}>x \ln a
$$

The proof is completed.
Remark 5. Theorem 6 is a special case of Theorem 7 (iii).
Theorem 8. Let $a<b$. Then there exists $\xi \in\left(\frac{a+b}{2}, b\right)$ such that

$$
\mathrm{e}^{\xi}=\frac{\mathrm{e}^{b}-\mathrm{e}^{a}}{b-a}
$$

Proof. From the Lagrange mean value theorem or integral mean value theorem, it is easy to see that there exists $\xi \in(a, b)$ such that

$$
\begin{equation*}
\mathrm{e}^{\tilde{s}}=\frac{\mathrm{e}^{b}-\mathrm{e}^{a}}{b-a} \tag{14}
\end{equation*}
$$

We now claim that $\xi \in\left(\frac{a+b}{2}, b\right)$. Let $f(x)=\mathrm{e}^{x}$ for $x \in[a, b]$. Then $f$ is integrable on $[a, b]$ and

$$
f(x) \cdot f(a+b-x)=\mathrm{e}^{a+b}:=c \quad \text { for all } x \in[a, b]
$$

Note that $f(x)=f(a+b-x)=\sqrt{c}$ holds for $x=\frac{a+b}{2}$. Accordingly, by applying Theorem 2, we obtain

$$
\begin{equation*}
\mathrm{e}^{b}-\mathrm{e}^{a}=\int_{a}^{b} \mathrm{e}^{x} \mathrm{~d} x>(b-a) \sqrt{c}=(b-a) \mathrm{e}^{\frac{a+b}{2}} \tag{15}
\end{equation*}
$$

which follows immediately from (14) and (15) that $\xi>\frac{a+b}{2}$. Therefore, $\xi \in\left(\frac{a+b}{2}, b\right)$.
Theorem 9. Let $0<a<b$. Then there exists $\xi \in\left(a, \frac{a+b}{2}\right)$ such that

$$
b-a=\xi(\ln b-\ln a) .
$$

Proof. Making full use of the Lagrange mean value theorem, we can find $\xi \in(a, b)$, such that

$$
\begin{equation*}
\frac{1}{\xi}=\frac{\ln b-\ln a}{b-a} . \tag{16}
\end{equation*}
$$

We now speculate that $\xi \in\left(a, \frac{a+b}{2}\right)$. To this end, put $f(x)=\frac{x}{a+b-x}$ for $x \in[a, b]$. Thus $f$ is integrable on $[a, b]$ and

$$
f(x) \cdot f(a+b-x)=1 \quad \text { for all } x \in[a, b] .
$$

Note that $f(x)=f(a+b-x)=1$ holds for $x=\frac{a+b}{2}$. So, by utilizing Theorem 2, we obtain

$$
\begin{equation*}
(a+b)(\ln b-\ln a)-(b-a)=\int_{a}^{b} \frac{x}{a+b-x} \mathrm{~d} x>b-a \tag{17}
\end{equation*}
$$

Combining (16) and (17), we obtain $\xi<\frac{a+b}{2}$. Therefore, we show $\xi \in\left(a, \frac{a+b}{2}\right)$.

## 5. Conclusions

In this paper, we study two questions for Theorem 1 as follows:
Question 1. Can we establish new real generalizations of Theorem 1?
Question 2. Does Theorem 1 still hold if we replace the codomain $(0,+\infty)$ of $f$ with $(-\infty,+\infty)$ ?

We establish Theorem 2, which is a new real generalization of Theorem 1, and a positive answer to Question 1. A new simple counterexample is given to verify that Question 2 is not always true. Furthermore, we prove Theorem 3, which is equivalent to Theorem 2, and show some applications of our new results. In summary, our new results are original, novel, and developmental in the literature. We hope that our new results can be applied to nonlinear analysis, mathematical physics, and related fields in the future.

Author Contributions: Writing original draft, H.H. and W.-S.D. Both authors contributed equally to the manuscript. All authors have read and agreed to the published version of the manuscript.

Funding: The first author is partially supported by the Natural Science Foundation of Chongqing of China (No. cstc2020jcyj-msxmX0762) and the Initial Funding of Scientific Research for High-level Talents of the Chongqing Three Gorges University of China (No. 2104/09926601). The second author is partially supported by Grant No. MOST 111-2115-M-017-002 of the Ministry of Science and Technology of the Republic of China.
Institutional Review Board Statement: Not applicable.
Informed Consent Statement: Not applicable.
Data Availability Statement: Not applicable.
Acknowledgments: The authors wish to express their hearty thanks to the anonymous referees for their valuable suggestions and comments.

Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Kuang, J.-C. Applied Inequalities (Chang Yong Bu Deng Shi), 5th ed.; Shandong Press of Science and Technology: Jinan, China, 2021. (In Chinese)
2. Mitrinović, D.S.; Pečarić, J.E.; Fink, A.M. Classical and New Inequalities in Analysis; Kluwer Academic Publishers: Dordrecht, The Netherlands, 1993.
3. Mitrinović, D.S.; Vasić, P.M. Analytic Inequalities; Springer: Berlin/Heidelberg, Germany, 1970.
4. Wang,W.L. Approaches to Prove Inequalities; Press of Harbin Industrial University: Harbin, China, 2011. (In Chinese)
5. Rudin, W. Principles of Mathematical Analysis; McGraw-Hill, Inc.: New York, NY, USA, 1976.
6. Nantomah, K.; Okpoti, C.A.; Nasiru, S.S. On a Generalized Sigmoid Function and its Properties. Asian J. Math. Appl. 2020, 2020, ama0527.
